
A3

Maschinenfabrik, CH-4450 Sissach

Aenderungen

Massstab

65
40

60
0.a

sm

Radwippe vormont. VA25-S

VA 25-S

654.06.00

Allgemeintoleranzen:
  0 -   30 = ISO 2768 - m
30 - 400 = ISO 2768 - f

astucki06.08.2018Gezeichnet

Geprüft

a)
b)
c)
d) 

06.08.2018

[ ! ] =
Fertigungs-
    masse

1:2

VA-Art.-Nr. - 702521

ST

5
2

1
1

3
1

4
1

11
2

9
2

7
2

10
2

8
2

6
2

2
2

Pos.Nr. Dokumentnummer Titel Artikelnummer Menge

1 654.01.10d Radwippe 702457 1

2 GLY-BUECHSE_MB1620DP4 Glacier-DP4-Büchse 1620DP4 - ø16/18 x 20 108481 2

3 654.01.11 Achse zu Radwippe 702458 1

4 654.01.12a Radachse 702459 1

5 635.01.56 Elastic-Rad grau WE 160/50/4K 109452 2

6 BN_732_M8 Scheibe M8 - ø8.4/35x2.5 - BN 832 108581 2

7 BN_13292_M8 Rip-Lock-Sich.-Scheibe M8 113918 2

8 BN_56_M8x20 6kt-Schraube - BN 56 - M8 x 20 101600 2

9 BN_13292_M10 Rip-Lock Scheibe BN 13292 M10 113919 2

10 BN_56_M10x30 6Kt.-Schraube - BN 56 - M10x30 101608 2

11 BN_1095-M14 Schutzstpfen-TL-4-128 / BN 1095 111850 2


